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1. [8 points] What is the output of the following C program fragment?

double a = -30.356;

int b = 28;

printf(“%4d%9.2f”, b, a);

	
	
	2
	8
	
	
	
	-
	3
	0
	.
	3
	6
	
	


2. [8 points] Convert the following mathematical equation into a valid C statement (assume that all variables are declared and initialized):

w = y2 + [image: image2.png]


 + z 
w = y * y + (a * b) / (c + d) + z ;
3. [9 points] By drawing an evaluation tree, show the order in which the operators in the following C program fragment are evaluated:
y     =     (5     +     3 )    *     pow(x,  3)     +     5    *    (2    +    4    *    2    –    5) ;
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4. [35 points = 15 + 20]
(a) Develop a pseudo code algorithm to find the perimeter of a rectangle given the length and the width of the rectangle as input. 

(b) Translate the pseudo code algorithm into a complete C program. Assume that the length and the width are both in centimetres. 
1. Prompt for length and width

2. Input length and width

3. Calculate perimeter:  perimeter = 2 *(length + width)

4. Display the perimeter

5. Stop
// No need to write statements to freeze the output window

#include <stdio.h>

int main(void){


double length, width, perimeter;

  printf(“Enter length (cm) and width (cm):\n”);

  scanf(“%lf%lf”, &length, &width);

  perimeter = 2 * (length + width);

  printf(“Perimeter = %.2f cm\n”, perimeter);

  return 0;

}
